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Subjective questions

Question 1
Question Id : 1

Which was the first electronic digital computer?
Answer :

Option Id
(A) PASCAL

1001

(B) ENIAC

1002

(C) EDSAC

1003

(D) IBM-PCṀ

1004

Right Answer :
ENIAC

Right Option Id : 1002

Question 2
Question Id : 28

What is operating system ?
Answer :

Option Id
(A) Application software

28001

(B) Utility software

28002

(C) System software

28003

(D) Hardware

28004

Right Answer :
System software

Right Option Id : 28003

Question 3
Question Id : 29

A hardware device which is capable to execute the serial of the direction is known as-
Answer :

Option Id
(A) CPU

29001

(B) ALU

29002

(C) Processor

29003



(D) None of the given options

29004

Right Answer :
Processor

Right Option Id : 29003

Question 4
Question Id : 30

To open a file in MS-word, We use-
Answer :

Option Id
(A) Ctrl+O

30001

(B) Ctrl+N

30002

(C) O

30003

(D) N

30004

Right Answer :
Ctrl+O

Right Option Id : 30001

Question 5
Question Id : 31

CGI stands for
Answer :

Option Id
(A) Common graphics interface

31001

(B) Common gateway interchange

31002

(C) Common gateway interface

31003

(D) Computer gateway interface

31004

Right Answer :
Common gateway interface

Right Option Id : 31003

Question 6
Question Id : 32

Which protocol is used to send the E-mail?
Answer :

Option Id
(A) IMAP

32001

(B) POP3

32002

(C) SMTP

32003



(D) HTTP

32004

Right Answer :
SMTP

Right Option Id : 32003

Question 7
Question Id : 33

Which of the following is NOT a type of scanner?
Answer :

Option Id
(A) Flat bed

33001

(B) Sheet feed

33002

(C) Handheld

33003

(D) Drum

33004

Right Answer :
Drum

Right Option Id : 33004

Question 8
Question Id : 34

Orientation NOT supported by Powerpoint is
Answer :

Option Id
(A) Landscape

34001

(B) Portrait

34002

(C) Canvas

34003

(D) None of the given options

34004

Right Answer :
Canvas

Right Option Id : 34003

Question 9
Question Id : 35

Example of volatile memory is
Answer :

Option Id
(A) Flash Drive

35001

(B) Magnetic Tape

35002

(C) RAM

35003

(D) Hard disk



35004

Right Answer :
RAM

Right Option Id : 35003

Question 10
Question Id : 36

Which of the following is a presentation graphics software?
Answer :

Option Id
(A) MS-Word

36001

(B) MS Power Point

36002

(C) MS-Excel

36003

(D) MS-Windows

36004

Right Answer :
MS Power Point

Right Option Id : 36002

Question 11
Question Id : 37

ALU is the part of -
Answer :

Option Id
(A) CPU

37001

(B) CU

37002

(C) Memory

37003

(D) None of the given options

37004

Right Answer :
CPU

Right Option Id : 37001

Question 12
Question Id : 38

Redo is done by ?
Answer :

Option Id
(A) Ctrl+Z

38001

(B) Ctrl+Y

38002

(C) Y

38003

(D) Z



38004

Right Answer :
Ctrl+Y

Right Option Id : 38002

Question 13
Question Id : 39

Which of these is genetic diseases?
Answer :

Option Id
(A) TB

39001

(B) Migraine

39002

(C) Hemophilia

39003

(D) Night blindness

39004

Right Answer :
Hemophilia

Right Option Id : 39003

Question 14
Question Id : 40

The highest speed memory in a computer is
Answer :

Option Id
(A) CPU registers

40001

(B) RAM

40002

(C) Hard Disk

40003

(D) CD ROM

40004

Right Answer :
CPU registers

Right Option Id : 40001

Question 15
Question Id : 41

Memories which can be read only are called ________ memories
Answer :

Option Id
(A) ROM

41001

(B) RAM

41002

(C) PROM

41003

(D) EPROM



41004

Right Answer :
ROM

Right Option Id : 41001

Question 16
Question Id : 42

Which of the following refers to the memory in your computer
Answer :

Option Id
(A) USB

42001

(B) DSL

42002

(C) RAM

42003

(D) CPU

42004

Right Answer :
RAM

Right Option Id : 42003

Question 17
Question Id : 43

In data structure, accessing & processing of each record exactly once is called
Answer :

Option Id
(A) Sorting

43001

(B) Searching

43002

(C) Traversing

43003

(D) Inserting

43004

Right Answer :
Traversing

Right Option Id : 43003

Question 18
Question Id : 44

Alignment buttons are available on the
Answer :

Option Id
(A) Status bar

44001

(B) Formatting toolbar

44002

(C) Standard toolbar

44003

(D) None of the given options



44004

Right Answer :
Formatting toolbar

Right Option Id : 44002

Question 19
Question Id : 45

Which command is used to start a slide show
Answer :

Option Id
(A) Edit

45001

(B) Slide Show

45002

(C) File

45003

(D) Tools

45004

Right Answer :
Slide Show

Right Option Id : 45002

Question 20
Question Id : 46

The abbreviation OSI stands for ?
Answer :

Option Id
(A) Open systems interconnection

46001

(B) Organization of System Interface

46002

(C) Operational Systems Interface

46003

(D) Open Systems Interface

46004

Right Answer :
Open systems interconnection

Right Option Id : 46001

Question 21
Question Id : 47

What is "Oracle" ?
Answer :

Option Id
(A) A coordinate system

47001

(B) Word software

47002

(C) Database software

47003

(D) All of the given options



47004

Right Answer :
Database software

Right Option Id : 47003

Question 22
Question Id : 48

IC chip is made of …........
Answer :

Option Id
(A) Silicon

48001

(B) Nickel

48002

(C) Iron

48003

(D) Copper

48004

Right Answer :
Silicon

Right Option Id : 48001

Question 23
Question Id : 27

Screen back ground is known as …......... ?
Answer :

Option Id
(A) Application

27001

(B) Window

27002

(C) Desktop

27003

(D) Frames

27004

Right Answer :
Desktop

Right Option Id : 27003

Question 24
Question Id : 25

Which of the following is not an input device ?
Answer :

Option Id
(A) Mouse

25001

(B) Keyboard

25002

(C) Light pen

25003

(D) VDU

25004



Right Answer :
VDU

Right Option Id : 25004

Question 25
Question Id : 2

Computer which combines analog and digital features is called….........
Answer :

Option Id
(A) Hybrid computer

2001

(B) Digital computer

2002

(C) Analog computer

2003

(D) Super computer

2004

Right Answer :
Hybrid computer

Right Option Id : 2001

Question 26
Question Id : 24

Where are data and programs stored when the processor uses them ?
Answer :

Option Id
(A) Main memory

24001

(B) Secondary memory

24002

(C) Disk memory

24003

(D) Program memory

24004

Right Answer :
Main memory

Right Option Id : 24001

Question 27
Question Id : 3

What is intersection of a row and column in a spreadsheet ?
Answer :

Option Id
(A) Formula

3001

(B) Worksheet

3002

(C) Address

3003

(D) Cell

3004



Right Answer :
Cell

Right Option Id : 3004

Question 28
Question Id : 4

What is the purpose of Firewall on computer ?
Answer :

Option Id
(A) Protecting a computer from unauthorizes use

4001

(B) Protecting a computer from fire

4002

(C) Protecting a computer from spam

4003

(D) All of the given options

4004

Right Answer :
Protecting a computer from unauthorizes use

Right Option Id : 4001

Question 29
Question Id : 5

First generation computer systems used which of the following?
Answer :

Option Id
(A) Vacuum tube

5001

(B) Transistor

5002

(C) Register

5003

(D) Sillicon chip

5004

Right Answer :
Vacuum tube

Right Option Id : 5001

Question 30
Question Id : 6

The Android operating system is an example of which type of source model ?
Answer :

Option Id
(A) Vertical market software

6001

(B) Open source

6002

(C) Horizontal market software

6003

(D) Shareware

6004



Right Answer :
Open source

Right Option Id : 6002

Question 31
Question Id : 7

What is the job of Medical Records Assistant?
Answer :

Option Id
(A) Helps in practicing coding

7001

(B) Organizes patient records

7002

(C) Protects the security and confidentiality of patient information

7003

(D) All of the given options

7004

Right Answer :
All of the given options

Right Option Id : 7004

Question 32
Question Id : 8

Hospital based research activities enhance medical technology and services in the field.
Answer :

Option Id
(A) Hospital functioning and administration

8001

(B) Clinical work

8002

(C) Physical and psycho-social aspects of health, diseases

8003

(D) All of the given options

8004

Right Answer :
All of the given options

Right Option Id : 8004

Question 33
Question Id : 9

Who among the following is called the father of modern computing ?
Answer :

Option Id
(A) Charles Babbage

9001

(B) Hollerith

9002

(C) Gottfried von Leibnitz

9003

(D) Joseph M Jacquard

9004



Right Answer :
Charles Babbage

Right Option Id : 9001

Question 34
Question Id : 10

Where electronic medical record files can be kept ?
Answer :

Option Id
(A) Almirah

10001

(B) Lab

10002

(C) Computer

10003

(D) All of the given options

10004

Right Answer :
Computer

Right Option Id : 10003

Question 35
Question Id : 11

Who enforces and controls professional law or ethical issues?
Answer :

Option Id
(A) Public Health Act

11001

(B) National Public Health Bill (2002)

11002

(C) Health Information Patient Privacy Act

11003

(D) Model Public Health Bill (1987)

11004

Right Answer :
Health Information Patient Privacy Act

Right Option Id : 11003

Question 36
Question Id : 12

What is the number of beds in a Community Health Center?
Answer :

Option Id
(A) 30 to 50

12001

(B) 20 to 25

12002

(C) 35 to 45

12003

(D) None of the given options

12004



Right Answer :
30 to 50

Right Option Id : 12001

Question 37
Question Id : 13

What can be seen in the electronic health record?
Answer :

Option Id
(A) Name of the hospital

13001

(B) disease

13002

(C) medicine

13003

(D) All of the given options

13004

Right Answer :
All of the given options

Right Option Id : 13004

Question 38
Question Id : 14

Which of these does not come under the category of medical records?
Answer :

Option Id
(A) Doctor's prescription

14001

(B) Lab report

14002

(C) Duty of a doctor

14003

(D) X-ray-ultrasound image

14004

Right Answer :
Duty of a doctor

Right Option Id : 14003

Question 39
Question Id : 15

Which of the following is not a network topology ?
Answer :

Option Id
(A) Star

15001

(B) Bus

15002

(C) Linear

15003

(D) Ring

15004



Right Answer :
Linear

Right Option Id : 15003

Question 40
Question Id : 16

Which of the following is not an example of system maintenance ?
Answer :

Option Id
(A) Replacing user interface

16001

(B) Making backup copies of files

16002

(C) Providing system security

16003

(D) None of the given options

16004

Right Answer :
Replacing user interface

Right Option Id : 16001

Question 41
Question Id : 17

The main system board of a computer is called ….....
Answer :

Option Id
(A) Integrated circuit

17001

(B) Motherboard

17002

(C) Processor

17003

(D) Microchip

17004

Right Answer :
Motherboard

Right Option Id : 17002

Question 42
Question Id : 18

How many megabytes make one gigabyte ?
Answer :

Option Id
(A) 1000

18001

(B) 1012

18002

(C) 1020

18003

(D) 1024

18004



Right Answer :
1024

Right Option Id : 18004

Question 43
Question Id : 19

What material is destroyed when the computer is turned off ?
Answer :

Option Id
(A) Input

19001

(B) Output

19002

(C) Memory

19003

(D) Storage

19004

Right Answer :
Memory

Right Option Id : 19003

Question 44
Question Id : 20

First graphical web browser is ?
Answer :

Option Id
(A) Gopher

20001

(B) Way

20002

(C) Mosaic

20003

(D) Cern

20004

Right Answer :
Mosaic

Right Option Id : 20003

Question 45
Question Id : 21

Which of these is not the responsibility of the Medical Records keeper?
Answer :

Option Id
(A) Humility

21001

(B) Answering phone calls

21002

(C) Knowledge of departments and sections of a hospital

21003

(D) Treatment

21004



Right Answer :
Treatment

Right Option Id : 21004

Question 46
Question Id : 22

Pascal is ?
Answer :

Option Id
(A) A high level programming language

22001

(B) Name after Blaise Pascal

22002

(C) Structured programming named after a mathematician

22003

(D) All of the given options

22004

Right Answer :
All of the given options

Right Option Id : 22004

Question 47
Question Id : 23

Which of the following is not a valid version of MS Office ?
Answer :

Option Id
(A) Office XP

23001

(B) Office Vista

23002

(C) Office 2007

23003

(D) Office 2013

23004

Right Answer :
Office Vista

Right Option Id : 23002

Question 48
Question Id : 49

What is the shortcut key to Open the Open dialog box in MS Word ?
Answer :

Option Id
(A) F12

49001

(B) Shift + F12

49002

(C) Alt + F12

49003

(D) Ctrl + F12

49004



Right Answer :
Ctrl + F12

Right Option Id : 49004

Question 49
Question Id : 26

Which of the following displays the contents of the active cell ?
Answer :

Option Id
(A) Active cell

26001

(B) Formula bar

26002

(C) Menu bar

26003

(D) Dialogue bar

26004

Right Answer :
Formula bar

Right Option Id : 26002

Question 50
Question Id : 50

What is the keyboard shortcut to create a chart from selected cells ?
Answer :

Option Id
(A) F3

50001

(B) F5

50002

(C) F7

50003

(D) F11

50004

Right Answer :
F11

Right Option Id : 50004

Question 51
Question Id : 51

What is the device called that prevents computer data files from being affected by power problems ?
Answer :

Option Id
(A) Incremental backup

51001

(B) Full backup

51002

(C) Surge protector

51003

(D) Differential backup

51004

Right Answer :
Surge protector



Right Option Id : 51003

Question 52
Question Id : 52

The intersection of letters and numbers of column and row is -
Answer :

Option Id
(A) Cell coordinate

52001

(B) Cell location

52002

(C) Cell position

52003

(D) Cell address

52004

Right Answer :
Cell address

Right Option Id : 52004

Question 53
Question Id : 53

What is the Output ?
Answer :

Option Id
(A) Which the processor charges from the user

53001

(B) That the user gives to the processor

53002

(C) That the processor gives to the user

53003

(D) Which the processor receives from the user

53004

Right Answer :
That the processor gives to the user

Right Option Id : 53003

Question 54
Question Id : 54

To edit selected cells in MS Excel -
Answer :

Option Id
(A) Press F1

54001

(B) Press F2

54002

(C) Press F4

54003

(D) Press F7

54004

Right Answer :
Press F2



Right Option Id : 54002

Question 55
Question Id : 55

Which of the following storage media provides only sequential access ?
Answer :

Option Id
(A) Floppy disk

55001

(B) Magnetic disk

55002

(C) Magnetic tape

55003

(D) Optical disk

55004

Right Answer :
Magnetic tape

Right Option Id : 55003

Question 56
Question Id : 56

What is the shortcut key to indent paragraph in MS Word ?
Answer :

Option Id
(A) Ctrl + M

56001

(B) Shift + N

56002

(C) Shift + M

56003

(D) Ctrl + I

56004

Right Answer :
Ctrl + M

Right Option Id : 56001

Question 57
Question Id : 57

The storage area of E-Mail message is called ?
Answer :

Option Id
(A) Folder

57001

(B) Directory

57002

(C) Mailbox

57003

(D) Hard disk

57004

Right Answer :
Mailbox



Right Option Id : 57003

Question 58
Question Id : 58

One byte contains :
Answer :

Option Id
(A) Eight characters

58001

(B) Eight bits

58002

(C) A single digit with two possible states

58003

(D) One word

58004

Right Answer :
Eight bits

Right Option Id : 58002

Question 59
Question Id : 59

Which of the following types of computers are the most powerful ?
Answer :

Option Id
(A) Professional work station Computer

59001

(B) Internet tools Computer

59002

(C) Desktop computer

59003

(D) Network computer

59004

Right Answer :
Professional work station Computer

Right Option Id : 59001

Question 60
Question Id : 60

Which of the following is the most used Input Device ?
Answer :

Option Id
(A) Microphone

60001

(B) Scanner

60002

(C) Touch screen

60003

(D) Mouse

60004

Right Answer :
Mouse



Right Option Id : 60004

General English

Question 61
Question Id : 70

Fill in the blank "__________ does the program start ?"
Answer :

Option Id
(A) When

70001

(B) Where

70002

(C) Why

70003

(D) Whom

70004

Right Answer :
When

Right Option Id : 70001

Question 62
Question Id : 69

Change the active voice sentence to passive voice : I will surely help you.
Answer :

Option Id
(A) You will be helped by me

69001

(B) You will not be helped by me

69002

(C) You would surely be helped by me

69003

(D) You will surely be helped by me

69004

Right Answer :
You will surely be helped by me

Right Option Id : 69004

Question 63
Question Id : 66

Neither you, nor I, nor anyone else______the answer .
Answer :

Option Id
(A) Know

66001

(B) Knows

66002

(C) Have known

66003

(D) Knowing

66004



Right Answer :
Knows

Right Option Id : 66002

Question 64
Question Id : 68

Choose correct antonym. Modern
Answer :

Option Id
(A) Up-date

68001

(B) Recent

68002

(C) Cast

68003

(D) Ancient

68004

Right Answer :
Ancient

Right Option Id : 68004

Question 65
Question Id : 67

Choose correct synonym . Germinate
Answer :

Option Id
(A) Decay

67001

(B) Breed

67002

(C) Produce

67003

(D) Sprout

67004

Right Answer :
Sprout

Right Option Id : 67004

Question 66
Question Id : 61

Fill in the blanks with suitable words. Where did you ______yesterday ? (go)
Answer :

Option Id
(A) Went

61001

(B) Going

61002

(C) Go

61003

(D) Gone

61004

Right Answer :
Go



Right Option Id : 61003

Question 67
Question Id : 65

Identify the adjective in the following sentence: "My mother is angry with me "
Answer :

Option Id
(A) Angry

65001

(B) My mother

65002

(C) With

65003

(D) Me

65004

Right Answer :
Angry

Right Option Id : 65001

Question 68
Question Id : 64

Read the passage and answer the questions that follows :

The solar system consists of the sun and the celestial bodies that orbit around it. These bodies include planets, moons, asteroids and comets. The sun is a massive ball of
hot gases and it provides light and heat to all the planets. The eight planets in our solar system are Mercury, Venus, Earth, Mars, Jupiter, Saturn, Uranus and Neptune.
Each planet has unique characteristics and orbits the sun at different distances. Some planets have moons while others do not. The solar system is a fascinating topic for
astronomers and space enthusiasts.

Question : What does the solar system consist of?
Answer :

Option Id
(A) The sun and the moon

64001

(B) The sun and the planets

64002

(C) The moon and the stars

64003

(D) The planets and the stars

64004

Right Answer :
The sun and the planets

Right Option Id : 64002

Question 69
Question Id : 63

Read the passage and answer the questions that follows :

The solar system consists of the sun and the celestial bodies that orbit around it. These bodies include planets, moons, asteroids and comets. The sun is a massive ball of
hot gases and it provides light and heat to all the planets. The eight planets in our solar system are Mercury, Venus, Earth, Mars, Jupiter, Saturn, Uranus and Neptune.
Each planet has unique characteristics and orbits the sun at different distances. Some planets have moons while others do not. The solar system is a fascinating topic for
astronomers and space enthusiasts.

Question : How many planets are there in our solar system ?
Answer :

Option Id
(A) Six



63001

(B) Eight

63002

(C) Ten

63003

(D) Twelve

63004

Right Answer :
Eight

Right Option Id : 63002

Question 70
Question Id : 62

Read the passage and answer the questions that follows :

The solar system consists of the sun and the celestial bodies that orbit around it. These bodies include planets, moons, asteroids and comets. The sun is a massive ball of
hot gases and it provides light and heat to all the planets. The eight planets in our solar system are Mercury, Venus, Earth, Mars, Jupiter, Saturn, Uranus and Neptune.
Each planet has unique characteristics and orbits the sun at different distances. Some planets have moons while others do not. The solar system is a fascinating topic for
astronomers and space enthusiasts.

Question : What is sun made of ?
Answer :

Option Id
(A) Hot liquid

62001

(B) Hot gases

62002

(C) Hot solids

62003

(D) None of the given options

62004

Right Answer :
Hot gases

Right Option Id : 62002

General Knowledge

Question 71
Question Id : 80

P.V. Sindhu, is associated with which of the following sports ?
Answer :

Option Id
(A) Tennis

80001

(B) Gymnastic

80002

(C) Weight Lifting

80003

(D) Badminton

80004

Right Answer :
Badminton

Right Option Id : 80004



Question 72
Question Id : 77

Sanchi Stupas is situated in which state ?
Answer :

Option Id
(A) Madhya Pradesh

77001

(B) Rajasthan

77002

(C) Uttar Pradesh

77003

(D) Bihar

77004

Right Answer :
Madhya Pradesh

Right Option Id : 77001

Question 73
Question Id : 79

The e-Sanjeevani Programme is a government initiative in India that provides online
Answer :

Option Id
(A) Healthcare services

79001

(B) Financial Services

79002

(C) External Affairs Services

79003

(D) None of the given options

79004

Right Answer :
Healthcare services

Right Option Id : 79001

Question 74
Question Id : 78

Which of the following sectors produces goods using natural resources ?
Answer :

Option Id
(A) Primary sector

78001

(B) Secondary sector

78002

(C) Tertiary sector

78003

(D) Quaternary sector

78004

Right Answer :
Primary sector

Right Option Id : 78001



Question 75
Question Id : 76

Who was the first woman President of India ?
Answer :

Option Id
(A) Droupadi Murmu

76001

(B) Pratibha Patil

76002

(C) Lakshmi Sahgal

76003

(D) V. Mohini Giri

76004

Right Answer :
Pratibha Patil

Right Option Id : 76002

Question 76
Question Id : 71

Which day is celebrated as National Doctor's Day ?
Answer :

Option Id
(A) 10th January

71001

(B) 15th April

71002

(C) 1st July

71003

(D) 5th June

71004

Right Answer :
1st July

Right Option Id : 71003

Question 77
Question Id : 75

Which of the following is a type of computer port ?
Answer :

Option Id
(A) USB

75001

(B) HDMI

75002

(C) Ethernet

75003

(D) All of the given options

75004

Right Answer :
All of the given options

Right Option Id : 75004



Question 78
Question Id : 74

India recently celebrated the 75th Republic Day on 26 January 2024, who was the Chief Guest at Republic Day 2024 ?
Answer :

Option Id
(A) Justin Trudeau

74001

(B) Emmanuel Macron

74002

(C) Angela Merkel

74003

(D) Boris Johnson

74004

Right Answer :
Emmanuel Macron

Right Option Id : 74002

Question 79
Question Id : 73

Who is the current Vice-President of India ?
Answer :

Option Id
(A) Mohammad Hamid Ansari

73001

(B) Bhairon Singh Shekhawat

73002

(C) Venkaiah Naidu

73003

(D) Jagdeep Dhankhar

73004

Right Answer :
Jagdeep Dhankhar

Right Option Id : 73004

Question 80
Question Id : 72

Which of the following is the state sport of Uttar Pradesh ?
Answer :

Option Id
(A) Field Hockey

72001

(B) Badminton

72002

(C) Football

72003

(D) Cricket

72004

Right Answer :
Field Hockey

Right Option Id : 72001

Reasoning



Question 81
Question Id : 90

If SHARP is coded as 58034 and PUSH is coded as 4658, what is the code for RUSH?
Answer :

Option Id
(A) 4658

90001

(B) 3658

90002

(C) 6583

90003

(D) 8546

90004

Right Answer :
3658

Right Option Id : 90002

Question 82
Question Id : 89

Rajiv is the brother of Atul, Sonia is the sister of Sunil. Atul is the son of Sonia then how is Rajiv related to Sonia?
Answer :

Option Id
(A) Father

89001

(B) Nephew

89002

(C) Maternal uncle

89003

(D) Son

89004

Right Answer :
Son

Right Option Id : 89004

Question 83
Question Id : 88

P, Q, R, S and T each have different marks. Q scores only more than T and P scores more than S but less than R. Who scored the highest marks?
Answer :

Option Id
(A) P

88001

(B) S

88002

(C) R

88003

(D) T

88004

Right Answer :
R

Right Option Id : 88003



Question 84
Question Id : 87

Arriving at the conference venue on Friday, I found that I had arrived two days before the scheduled day. If I had reached there on the following Wednesday, how many
days would I have been late?
Answer :

Option Id
(A) 1 Day

87001

(B) 2 Days

87002

(C) 3 Days

87003

(D) 4 Days

87004

Right Answer :
3 Days

Right Option Id : 87003

Question 85
Question Id : 86

Which number will replace the question mark in the following series ?
1, 4, 9, 16, 25, 36, ?
Answer :

Option Id
(A) 40

86001

(B) 45

86002

(C) 49

86003

(D) 47

86004

Right Answer :
49

Right Option Id : 86003

Question 86
Question Id : 85

Find the missing value in - 12:144::13: ?
Answer :

Option Id
(A) 12

85001

(B) 13

85002

(C) 144

85003

(D) 169

85004

Right Answer :
169

Right Option Id : 85004



Question 87
Question Id : 84

Mohit is 16th from the top and twelfth from the bottom in merit in the class- How many students are there in the class?
Answer :

Option Id
(A) 29

84001

(B) 28

84002

(C) 27

84003

(D) None of the given options

84004

Right Answer :
27

Right Option Id : 84003

Question 88
Question Id : 83

Look at this series : 36,34,30,28,24,?
What should be the next number ?
Answer :

Option Id
(A) 22

83001

(B) 26

83002

(C) 23

83003

(D) 20

83004

Right Answer :
22

Right Option Id : 83001

Question 89
Question Id : 82

Which word does not belong with the others
Answer :

Option Id
(A) Index

82001

(B) Glossary

82002

(C) Chapter

82003

(D) Book

82004

Right Answer :
Book

Right Option Id : 82004



Question 90
Question Id : 81

If REGAL: LAGER:: RAW:
Answer :

Option Id
(A) ROYAL

81001

(B) WAR

81002

(C) LIFE

81003

(D) FROZEN

81004

Right Answer :
WAR

Right Option Id : 81002

Mathematical Aptitude

Question 91
Question Id : 99

What is the amount of surface enclosed by a closed plane figure ?
Answer :

Option Id
(A) Area

99001

(B) Perimeter

99002

(C) Volume

99003

(D) Circumference

99004

Right Answer :
Area

Right Option Id : 99001

Question 92
Question Id : 98

  The solution of the equation 5x = 10
Answer :

Option Id
(A) 1

98001

(B) 2

98002

(C) 5

98003

(D) 10

98004

Right Answer :
2



Right Option Id : 98002

Question 93
Question Id : 97

The graph of X = 9 is a straight line:
Answer :

Option Id
(A) Intersecting both the axes

97001

(B) parallel to y–axis

97002

(C) parallel to x–axis

97003

(D) passing through the origin

97004

Right Answer :
parallel to y–axis

Right Option Id : 97002

Question 94
Question Id : 96

The solution of the equation 7n + 5 = 12
Answer :

Option Id
(A) 0

96001

(B) 1

96002

(C) 2

96003

(D) 3

96004

Right Answer :
1

Right Option Id : 96002

Question 95
Question Id : 91

If 50 percent of students are good at science out of 20 students. Then the number of students good at science is :
Answer :

Option Id
(A) 10

91001

(B) 15

91002

(C) 5

91003

(D) 11

91004

Right Answer :
10



Right Option Id : 91001

Question 96
Question Id : 94

The solution of the equation 3p – 2 = 4 is
Answer :

Option Id
(A) 0

94001

(B) 1

94002

(C) 2

94003

(D) 3

94004

Right Answer :
2

Right Option Id : 94003

Question 97
Question Id : 93

Find the quotient obtained when 125.625 is divided by 0.5 ?
Answer :

Option Id
(A) 251.25

93001

(B) 2512.5

93002

(C) 25125

93003

(D) 25.125

93004

Right Answer :
251.25

Right Option Id : 93001

Question 98
Question Id : 92

What is the product of 16.89 x 10009
Answer :

Option Id
(A) 1689

92001

(B) 16809

92002

(C) 16890

92003

(D) 168.9

92004

Right Answer :
16890



Right Option Id : 92003

Question 99
Question Id : 95

What is the largest possible whole number which results in 223000 when a number is rounded off to the nearest thousand ?
Answer :

Option Id
(A) 2223499

95001

(B) 223001

95002

(C) 223500

95003

(D) 223100

95004

Right Answer :
2223499

Right Option Id : 95001

Question 100
Question Id : 100

What is the longest chord of a circle ?
Answer :

Option Id
(A) A Radius

100001

(B) An Arc

100002

(C) A Diameter

100003

(D) A Semicircle

100004

Right Answer :
A Diameter

Right Option Id : 100003


